EARAZROREIERT — 2 N—XBISY —F 20145108 4H (£) 4AEIBR+#7H

B+ >%3mtE 500ATF [BF] T2 ‘ Xzl 2 ‘ [EME] — | & (&) 14000 B
[A&4] 1 7% :7,500,000 @ 23 :3,000,000 " 33 :1,900,000 3 43 :1,100,000 @ 5 & :750,000 M
mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. NPT EIHE :23. - . . FEOEARER (ER)
LYY LY 3 e 1(2_3)7 1-1 36.3| 94.9 | 1 ?&2 s
R:d—IWR7Y2—Ib B:x8H>A9d v AHE #hiE
e e 4 3 | HUHE 1:23.7 6-6 35.4] 956 | 2 440 | ETREE (EX)
XL JXH—R 55.0 (7E) 4y | (B B
R:VZRE—IZX8— B:xLTIANY-— ERizae
. 4 | - 1:24.1 9-10 |35.6| 91.6 | 4 | 508 |t ()
T—UAT> A @ 1/2) () |H H STd7-FNAK
L:¥rinq4o— B:aLTLA H—L— - JvIN> - Ty—LERR
C 4 3 | BEKXME 1:24.2 3-3 36.4 | 90.3 | 10 464 | BERERE— (ER)
T'f‘ 7S £y 55.0 (3/4) (+2) REHS
R:T1—T2AhA4 B:T7LJV17XF%y R 7975 TT—L4
35 : # 3 | ERH 1:24.3 2-2 36.7| 88.7 | 8 508 | EEB— (RR)
IIx>hL3a—=~k 55.0 (1/2) 4o0) | ) GiL—v>y
R:xFA1=ZJ7— BIIXPPE—VUX HBE77— L4
n= o FEB= 4. - . i EHEE (EXR)
AIXETIFxy b i 570 1(,3%3 o %.3) 894 7 (:?g) 22 E (1)
L:xF1=T7—R B:Fv—LXZ— RIS
e S ERBZ 124 — . . BEEM (FXR)
@F 3T NS — 4 3 o (11 234/46) 6-6 36.4| 86.5 | 16 12(6))2 B
R b—KYILANT— BIfSLL9% # BB
. IMBiED : — AHE (EX)
glalial 7L o7 i3 L 1(/34;53 6-8 36.2| 86.5 | 9 <4+724) e
R:aATLRX BT - TYLY Ete
. . BERIRA 124. - . . EEELS (EXR)
9 NEEPEL Y S s> B4 B 1(/%4;_? 911 36.0| 8.6 | 6 zzg? i
L:vY /by THY B:FeT7N-X BORKS
2a5 s 4 4 | PRIUR—EB 1:24.6 9-8 36.2| 86.5 | 3 506 | EFRE— (ER)
10/1|1| oA 1EZa> 57.0 () G | AHER
RL:d—ILR7Ya—Ib B:hIh1T701> BEWS
= e it 5 | BERS 1:24.8 3-3 37.0/8.9| 5 492 | BREHE= (BEXR)
11816 ®@TT1—TEX 253.0 (1 1/2) (o) | EBRIT
:772RYIL7 B:OAXEUN-— FREFHS
NS # 4 | D. XAT 1y 1:24.8 13-12 [ 36.0| 84.7 | 12 | 476 |EFES (RR)
12 glEA/ITNRT— 57.0 (2 E) (+4) YT ABR (1)
LY by THY BTYU—NRAY— HEEAYS
N . . BRI :25. - . . BRERFIZ (EXR)
13l 7|14l @S FNTES K 5 EaA (13215/24) 16-15 | 35.7 | 79.1 | 11 (412) s
R:7A7% B:A—bxexor THKE
5 : 44 | ESEME 1:25.9 14-13 | 36.7 | 74.2 | 15 | 568 |FEmE (EX)
14 5 Ry agaq R 57.0 3) +2) ry > aIEE (%)
R:TUHA IR BS—Z> kYo ay NS o IEEKRR b Y Y3 K
=4 o4 | VX 1:26.8 15-14 | 37.3| 66.4 | 14 | 500 |AEEK (RX)
15/5| 9| ®Z7>F0O7 g 57.0 (5) (+10) 1&1/;7K$5%
R:TTRAGFLL BT — b J—HrTr—L
S N B 3 | BEE — 9 — — BRAE (ER)
x| 1|2 77>7YTLAR # A0 (k) 13 (gg) R EDED
RANXZTNYG B HATH =T AFHIS
@ 71 L
) 48.3-36.3
NA>ZA L | 12.5-11.1-11.8-12.0-11.6-11.9-12.8
® I —F—@EBIERL
1T=7r=
20—7—
Gol=5r= 4,10(7,16)11(6,13,12) (2,1,3,15)8-5,9,14
40—F— 4,10(7,16)11(6,12) (1,13)15,3,8-5-9,14 2
[ N3
BB 4 200M 714K 4-12 170H e E 2-6 280M JEHE 4-12-15 1,560
8 B 4 110 4-15 530M B = 4-12 330M B 4-12-15 5,000/
12 130 12-15 650F B H 4-12 580
15 270M

ABICOVWTRDTEEERROODE. TR LIV,



